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Directions: Questions 61-70 are incomplete sentences. Beneath each sentence you will see
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{} four words or phrases marked (1), (2), (3) and (4). Choose the one word or phrase that

best completes the sentence. Then mark your answer sheet. A Healthy Lifestyle
(Vocabulary
A: “How long ... interested in music?” Development, ...,
B:“I think since he was 8 years old.” Writing)
1)ish 2) has he b Art and Culture
1s he as he been (Get Ready,
3) he was 4) have he been Conversation)
After her little brother was born, Jane’s parents expected her to look ... him. A5 G $\ samio
1) up 2) for
3) after 4) at

The professor of the university asked many students in the class to ... the introduction paragraph because of
a lot of mistakes in it.

1) restart 2) rewrite 3) replay 4) reread

You will get a great ... if you buy more than a certain amount or number of our goods.

1) tongue 2) discount 3) match 4) pottery
They need to employ some young engineers with ... thinking to make better these terrible conditions.
1) artistic 2) fortunate 3) creative 4) cheerful
Switzerland ... high-quality watches and export them to all over the world.

1) travels 2) follows 3) underlines 4) produces

In our country, each village has got its own ... and the rural people work on them to make money.
1) experiences 2) strategies 3) handicrafts 4) heartbeats
We had some unsolvable problems in the process of ... the data for the research.

1) protecting 2) appreciating 3) creating 4) collecting
This film is the product of lots of team work, and a large amount of time has been ... on it.

1) attended 2) checked 3) spent 4) reviewed

It takes a lot of time for Iranian women to make a quite ... and unique carpet and sell it with high prices in
the market.
1) soft 2) sure 3) unpopular 4) normal

PART B: Reading Comprehension

Directions: Read the following passages and answer the questions by choosing the best choice (1), (2), (3), or (4). Then mark the
correct choice on your answer sheet.

Passage 1
Most people have heard the story of the lost island of Atlantis. But is any part of the story true?

The Greek writer Plato wrote that Atlantis was an island in the Atlantic Ocean. The island’s wealthy
people designed many great buildings and canals. At the center of the island they built a beautiful
golden temple. But the Atlanteans became greedy—they had everything, but they still wanted more.
The gods became angry, and the island was hit by earthquakes and great waves. Finally, the whole of
Atlantis sank into the sea.

Throughout history, explorers have reported finding Atlantis. In 2004, the explorer Robert Sarmast
reported finding the island’s remains on an undersea mountain near Cyprus. However, Sarmast and
other scientists later found out these findings were natural, not man-made.

Many people think that Atlantis is simply a story. The purpose of the story was to teach people
about the evils of greed. Richard Ellis published a book on Atlantis in 1999. He says “there is not a piece
of solid evidence” for a real Atlantis.

So was the island real or not? Only one thing is certain: the mystery of Atlantis will be with us for a

long time.

The best title for this reading could be ... .

1) Atlantis Sinks into the Sea 2) Atlantis: Real Place or Just a Story?
3) The Greed of the Atlanteans 4) I Found the Island of Atlantis
Which sentence about the story of Atlanteans is NOT true?

1) They were wealthy. 2) They built many buildings.

3) They were greedy. 4) They became angry.
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The word “great” in paragraph 1 can be replaced with ... .

1) very large 2) very good 3) very cold 4) very slow

What is the main idea of the third paragraph?

1) Atlantis sank near Cyprus. 2) No one has really found Atlantis.

3) The real Atlantis was found a long time ago. 4) Atlantis will be found under water.

Which of the following is closest in meaning to “there is not a piece of solid evidence” for a real Atlantis?
1) There is only one reason to believe the Atlantis story is true.

2) The story of Atlantis is made up of many small pieces.

3) There is nothing to make us believe the Atlantis story is true.

4) The way to find out about Atlantis is by reading books.

Passage 2
The “karat” marking on jewelry tells you what proportion of gold is mixed with other metals. If 14 parts

of gold are mixed with 10 parts of base metal, the combination is called 14 karat (14k) gold. The higher the
karat rating, the higher the proportion of gold in the object. The lowest karat gold that can be marketed in
the United States is 10 karat. Jewelry does not have to be marked with its karat quality, but most of it is. If
there is a karat quality mark, next to it must be the U.S. registered trade mark of the person or the company
that will stand behind the mark, as required by the National Gold and Silver Stamping Act.

The word “marketed” is closest in meaning to ... .

1) compared 2) mixed 3) stored 4) sold

“Karat”, as it is used in the jewelry industry, refers to the ... .

1) jeweler’s appearance 2) U.S. registered trade mark

3) amount of gold mixed with other metals 4) money value

Gold which is 10 karat in proportion ... .

1) represents the highest grade of gold in the U.S.

2) cannot be sold in the U.S.

3) never carries a karat quality mark

4) represents the lowest-grade gold marketable in the U.S.

The underlined pronoun “it” refers to ... .

1) trade mark 2) karat 3) mark 4) quality

Which of the following words in the passage means “the number or amount of a group or part of something
when compared to the whole”?

1) Proportion 2) Combination 3) Company 4) Rating
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